Year 2 Maths Support Pack – Week 9


Lesson 1 – Part Whole relationships and fact families
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Lesson 2 – Comparing number sentences
	>

    7 + 5                     4 + 6

	     >

      8 + 4                      6 + 2

	<

    3 + 9                      5 + 8   

	<

  12 + 4                     11 + 7


		<

   18 + 9                     21 + 7

	  23 + 8                   17 + 9>


	>

   25 + 7                    24 + 8

	   =

    33 + 7                   30 + 10

	  =

     14 – 3                    17 - 6
	>

   19 – 5                      20 – 7 


	<

   26 – 7                   28 - 5

	    30 – 5                    20 + 5=








Lesson 3 – Number facts

11
14
20



9
20
6
20
17
3

14 + 6 = 20
6 + 14 = 20
20 - 14 = 6
20 - 6 = 14

11 + 9 = 20
9 + 11 = 20
20 - 9 = 11
20 - 11 = 9


17 + 3 = 20
3 + 17 = 20
20 - 3 = 17
20 - 17 = 3
20
19
1
15
5
20
12
8
20
19 + 1 = 20
1 + 19 = 20
20 - 1 = 19
20 - 19 = 1

15 + 5 = 20
5 + 15 = 20
20 - 5 = 15
20 - 15 = 5

12 + 8 = 20
8 + 12 = 20
20 - 8 = 12
20 - 12 = 8












Challenge!
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1.4+10=14,10+4=14;14-10
2,12+ 17,5+12=17;17 -
3. Dlglicuds7ond9-)9+7
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Children should correctly write 2 different calculations and draw a @
part-whole model for their chosen number bond. Here is one example: <=

6+N=17 n=n+é

n+é=n 7=6+N °
”m-6=0 6=17-1

”-n=6 n=1-6 ° °

Children will come up with a variety of answers. Look for understanding of the
correct answer and how and why it can be changed to be incorrect.





image3.png
8 and 10 could
be the other
way around in

the part circles.
CIC

10+28=18
12-8=1lo
12-10=28





image4.png
1+9=10
2+8=10
3+7 =10
g+6=100
Ss+s=100
é6+4=100
7+3=10
g8+2=100
9+1=10

10 + 90 = 100
20 + 80 = 100
30 + 70 = 100
40 + 60 = 100
50 + 50 = 100
60 + 40 = 100
70 + 30 = oo
80 + 20 = 100
90 + 10 = 100

¢hild pairs up the
related facts,

for example | + 9 = 10
with 10 + 90 = 100





